NELSUN
®

RAINSCAPES™

CONTAINER WATERING KIT
PAISAJE KIT RIEGO
PAYSAGE D'’ARROSAGE KIT

Parts List

A. A. (50 ft.) 1/2 in. tubing
B. (3) Outlets
C. (3) Self-piercing cap
D. (3) Outlet base
E. (9) Adjustable sprinkler heads
E (8) 1/4 in. tubing clamps
G. (8) 1/2 in. tubing “goof” plugs
H. (50 ft.) 1/4 in. tubing
l. (8) 1/2 in. tubing clamps

H. J. (12) Shut-off caps
K. (8) #4 x 3/4 in. woodscrews
L. (8) #6 x 1/2 in. woodscrews
M. (3) 4mm x 1 in. woodscrews
N. (1) 1/2 in. mainline tubing end plug kit

Installation & Operating Instructions
Rainscapes Watering System™ is so easy to use, you may not even need these instructions.
But if you do, just follow this step-by-step.

Step 1: Unroll 1/2 in. mainline tubing.
To avoid kinks in the tubing, place something heavy, such as a brick, on one end of the tubing and continue to roll out the remainder,
then take a break, because you have just finished the hardest step! Tip: Lay tubing in sun to keep from recoiling.

Step 2: Mount outlet bases to deck.
Mount outlet bases to deck using 1 in. wood screw (included). Locate outlet bases in a central location to where containers/plants are
located. Kit includes 3 outlet bases. It is not necessary to use all 3 bases.

Step 3: Run 1/2 in. mainline tubing.

Connect mainline tubing to water source (such as a garden hose) or directly to outdoor faucet. For outdoor use only.

Run mainline tubing where needed, inserting tubing into bases.

Screw on self-piercing caps onto base. Note: goof plugs are included if you want to change later.

Attach outlet cap to top of self-piercing cap. Note: outlet caps may already be attached.

If necessary, use 1/2 in. tubing clamps to secure mainline tubing to deck using #6 x 1/2"” wood screws (included).

An end plug kit is included to shorten 1/2 in. mainline tubing if desired. To shorten, use scissors to cut off excess tubing (leave at
least 4 in. of tubing beyond last outlet base.) Insert metal shank over end of tubing and insert plug into tube to secure.

mmoowp

Step 3B Step 3C Step 3E Step 3F

Step 4: Run 1/4 in. feeder tubing.
A. Attach 1/4 in. feeder tubing onto one of the outlet caps.
B.  Use scissors to cut 1/4 in. feeder tubing so tubing is long enough to reach plant/container, allowing enough room to use tubing
clamps if needed.
Connect 1/4 in. tubing to sprinkler head with spike.
Insert sprinkler head spike into soil/container near plant(s).
If necessary, use 1/4 in. tubing clamps to secure feeder tubing to deck using #4 x 3/4 in. woodscrews (included).
Repeat for each plant/container. Multiple sprinklers may be used for large containers.
Not all outlets need to be used. Attach shut-off caps onto any unused outlets. Keep excess shut-off caps for possible future use.

@TMmMoo

Step 4D Step 4E Step 4G




Step 5: Enjoy!
A. Turn on water.
B.  Sprinklers have built-in flow control. Turn sprinkler heads clockwise to decrease water flow,
counter-clockwise to increase water flow.
C.  Water pressure can vary. If water pressure is too high, adjust water flow at faucet.
If using a long garden hose to connect the RainScapes Watering System™, you may
experience a drop in water pressure and water flow.

Tip: Having regrets about your piercings?

Need to move a sprinkler? No problem. We've included 8 “goof” plugs to patch your previous spots, or
any goofs that happen along the way. Pinch the sides of the tubing and hold firmly when inserting

a plug.

Care and maintenance of your RainScapes Watering System™.

To ensure that your RainsScapes Watering System™ lasts as long as you do, once a year, dismantle
your system and flush with water to remove debris. Before freezing weather, detach the tubing from
the faucet, remove the end cap, and allow the water to drain from the system. It is not necessary to
store this product indoors during colder months. The RainScapes Watering System™ was designed
to be run at a lower water pressure. If you have high water pressure, do not run this system with the
water completely on. If you are using a long hose to connect your system to your faucet, you may
experience a decrease in water pressure and the diameter of spray.

CAUTION: Shock Hazard: Do not spray near electricity. Detach from faucet during freezing weather.
This product intended for outdoor watering use only. Do not use with water exceeding 100°F (38°C)
or with pressures exceeding 60 psi.

Ordering information
Parts orders can be placed with:
Consumer Service

Robert Bosch Tool Corporation
1-800-635-7668

8:00 A.M. - 5:00 PM. (CST) Mon. - Fri.
www.lrnelson.com

(55 YoullH



